Please explain in your own words how the proof works.  

Please use words to describe the proof.

If you use a theorem, please state what it is and if possible, where you got it.
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(15 points) Let A be a countable set. The power set P(A) of A is the collection of all subsets
of A:

P(A):={E| EC A}
(a) Prove that P(A) can be put in 1-1 correspondence with the set S of all sequences whose
terms are zeroes and ones. (For example, s = {0,0,1,0,1,1,1,0,...} is an element of S.)

(b) Using part (a), or otherwise, prove that P(A) is uncountable.




